1 metre = 100 centimetres 1 m=100 cm 100cm=1m
2 metres =200 centimetres 2 m=200cm 200cm=2m
1. Complete the table below
Im 1 x 100 100 1m=100 cm
2m 2 x 100 200 2m= ......cm
3m | .. x 100 300 3m=.....cm
bm | .. x 100 6m=.....cm
O9m | ... x 100 9m=.....cm
......... m 7 x 100 .. m =700 cm
......... m g (00 800 e = 800 c
45 m 45 x ... S 45m=....cm
Note: Any number x 100, we add two ‘0’ to the number ex 5 x 100 =5

Similarly when we +100, we remove two ‘0’ from the number ex 400+100=4
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a. 2m+3m=
A 200

b. bm+7m=
A 200

c. 8m-4m-=
A 400

d 15m-9m=

A 900

cm

B 300

cm

B 1000

cm

B 8400

cm

B 1500

C 100

C 1200

C 1200

C 600

D 500

D 700

D 800

D 500
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. Choose the correct answer (You should do a small calculation before the conversion)



